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Color Position of equilibrium Changes
Qﬂ\ﬁﬁa\aﬁi@@ [l ) [ puSad) olay) SJ\)M\%JAQAJ
Redish brown or the e Ll Raise the
intensity color getting Backward direction/ to the left/ temperature
increases. towards reactants
Qoll) Bad J&y ol ¢y slll anae a3 [opad) ) [ gkl slamy) sl g ana (i
Colorless or the color = 54l Jeladl)

intensity the intensity

decreases.

Forward direction/ to the right/
towards products

Reduce the size
of the reaction
vessel
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r = k [OH] [CIOz)? -1.«

Third-order A 45,0 -2
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C.1- The enthalpy change associated with the formation of one mole of a compound from
its elements in their standard states.

Olaa

ALl L33 o g ) Al s siaal) B (558 g Y AY -2

2- Because there is no difference in thermal content between their identical atoms.
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AH°® = Y AH’°x - D AHcsew. -3

= (-1669) - (3 x -588)

=-1669 + 1764 = +95 kJ/mol
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Slia Because the temperature is lower / J&i 3 ) all 4a 3 ¥ -2
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AdeLdtal)
B. Because the number of particles (moles) for the products is less than the number of
particles (moles) for the reactants.

Gl

[H=10°" =1X1020r =0.01

[H_] - K(;[HA] == [H']*=Ka[HA] == K =M - 3.33}(164 M

0.12
a9 Ka dad Gilual (lia ja g [H*] eaad Glia p raliada
e weak acid — Strong base / 488 sacld y L (e -2
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1- The colliding molecules must have enough energy to initiate a reaction, called
activation energy.

2- Particles must collide in the appropriate direction.

O Jadl) adliall) Jlaial) J&y AUl g aaadl 3aa g gﬂ Slaswall 23 Glall o jj
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Due to the decrease in the number of particles per unit volume and therefore the
probability of effective collision between the reactant particles decrease.

= DEWE@D k) -

— p(S0s) -
“Ua 1 =
Oy P 0%(S0,) X 5(02)

P(SOz) = | PYSOs)/Kex P(02) .3
Gl

P(SO2z) = . 25/ (4300 x 0.9)

P(SO-) = 0.08 atm
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D.1- When added a small amount of acid (H*) the pH value decreases and the added H* ions
react With excess X ions in the solution, the weak acid maintains the pH value.
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